Blomstermala BK
Barometer 5 2022-05-02

Partavling, 6 bord, 11 par. Antal brickor: 22. Medel: 88.0. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 8 113.3 64.38 Inge Hultberg - Dan Fransson 6542 12733 Blomstermala BK
2 4 110.0 62.50 Kaarlo Issal - Bo Sjostrom 6534 954  Blomstermala BK
3 9 101.2 57.50 Osten Danielsson - Lennart Andersson 32434 6543 Blomstermala BK
4 10 97.9 55.63 Eliasson Fredrik - Dan Jakobsson 66209 65787 Blomstermala BK - Oskarshamns BK
4 12 97.9 55.63 Heinz-Gunther Strémer - Anton Johansson 34472 58298 Blomsterméala BK
6 1 93.5 53.13 Berth Dahl - Rm Hammargren 6533 24360 Blomstermala BK
7 11 85.8  48.75 Anders Davidsson - Tomas Holmstrom 852 6547  Oskarshamns BK - Blomstermala BK
8 2 80.3 45.63 Lennart Gustavsson - Rune Sellberg 67845 58303 Blomsterméala BK
9 3 77.0 43.75 Egon Johansson - Rolf Eriksson 64590 39299 Blomsterméla BK
10 5 70.4  40.00 Bill Axblom - Géran Johansson 6537 62023 Blomstermala BK
11 7 40.7 23.13 Conny Yrdal - Gerd Strand 62505 62513 Blomsterméala BK
1 4 D3 2 4 D8 3 463 4 49643
Nord v EDKn84 Ost v5 Syd v E42 Vast vD106
Ingen +E6 NS + EKD53 oV + D97 Alla ¢ Kn9
#Kn1064 #D10943 #Kn10632 »K1064
4 EK852 4 Kn9764 « K1064 4 E9732 4 K987 aKn42 4 DKn1052 «E7
v7 v 96532 vKKn10972 v84 v5 vK10763 v K75 v32
+KD32 ¢97 +87 ¢ Kn1062 410432 +86 + K103 ¢ 8542
«D72 a5 8 *EK #ED84 &K97 #52 #EDKn97
410 4 Kn5 « ED105 4 K8
v K10 v ED63 v DKn98 v EKn984
+ Kn10854 +94 ¢ EKKn5 ¢ ED76
#EK983 #Kn7652 &5 #83
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
12 1 44 N+1 44 150 80008 5 440-1 ¢9 50 8000|8 7 3NN= ¢7400 7010|411 2¢9S= 45110 7.01.0
8 5 54DO-1¢4A 100 5030(11 2 340= ¢9 -140 6.020(10 5 3NN= ¥5400 7010(8 7 2vS= &5 110 7.01.0
11 2 44DV-144 100 5030(9 4 34 0+1 5 -170 4.04.0| 411 2NS+2 ¢2 180 4.040|1 3 34V-1 vQ100 3.050
310 54 V-1 vA 50 2060|310 440= ¢9 -420 20601 3 INN+1 #7 120 206.0(12 2 24 V-1 ¢J 100 3.05.0
9 4 4vyN-2 &5 -100 0.080(12 1 54DS-24K -500 0.080(12 2 3NN-1 v3 -50 008010 5 3vS-1 &5 -100 0.0 8.0
7 - 1.9 7 - 1.9 9 - 4.6 9 - 4.6
5 475 6 48 7 4732 8 4 KD754
Nord vE1092 Ost v D87 Syd v 982 Vast v EKD9
NS + DKn1092 ov ¢ DKn9542 Alla ¢ 42 Ingen .-
#D6 #D93 #96543 #Kn1064
4D 4 E103 41074 4 EKn95 41086 4 KDKn54 4E983 4Kné
vKDKn73 v 3864 v 1053 v EKKn6 v K107 vD vKnl0 ¢82
+ K74 485 + K6 ¢+ E8 ¢ K95 ¢ ED103 ¢ KKn7 ¢ ED9653
#EK102  &Kn9753 #E10872 #K64 #KDKn2 #1087 D732 #K85
& KKn98642 4 KD632 4 E9 4102
v5 v 942 v EKn6543 v 76543
¢ E63 +1073 ¢ Kn876 410842
*84 #Kn5 *E *E9
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
10 7 4vV-1 45 50 8.000(10 7 3NO+1 42 -630 8000|1 7 3NV-4 v9400 8000|1 7 3y N+2 ¢A 200 8.00.0
2 4 440+1 v5 -150 6.020( 9 8 3NO+2 4K -660 503010 9 34 O+1 A -170 404.0(12 4 3y N= ¢A 140 6.020
12 3 3vV+l 47 -170 404012 3 3NV+2 2 -660 503.0(11 8 24 O+2 #A -170 404.0|3 5 34 O-1 T 50 4.04.0
5 1 34S-2 #K -200 206.0(2 4 3NO+3 43 -690 1.070(12 4 24 O+2 #A -170 404011 8 4v N-1 ¢A -50 2.06.0
9 8 4vV= a7 -420 0080(5 1 3NO+3 43 -690 1.070( 3 5 44 O= #A -620 0.08.0(10 9 4vrDN-1¢A -100 0.0 8.0
11 - 3.9 11 - 3.9 - 2 37| - 2 3.7
9 4973 10 4 E965 11 » EKD982 12 & KKn97
Nord vK Ost v 108 Syd v84 Vast vD9
oV + 864 Alla + E10952 Ingen +54 NS + E10874
#KD8542 109 *752 *75
4DKnl0 4E4 4Knl02 4KD83 464 475 41032 D86
v42 v EDKn73 v74 v K963 vD75 v 963 vK5 v E10832
¢ EDKn92 ¢ 10753 +K643 ¢ - + 873 + EKD106 ¢ KDKn3 ¢ 92
#1097 #E3 #Kn632 #EK754 #EDKn94 #1086 #ED64  #KKn3
& K8652 a74 4 Kn103 4 E54
v 109865 v EDKn52 v EKKn102 v Kn764
+K + DKn87 ¢ Kn92 465
#Kn6 D8 &K3 #10982
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
7 3 2vO+1 ¢K -140 8000(1 9 3¢DN=#A670 80008 4 44N= +A420 8000(3 9 4vO-2 4T 100 8.00.0
2 8 3¢ V+2 #K -150 5.03.0(11 10 24 O-2 #Q200 6.020| 111 34 N= A 140 5030(210 3NV-1 ¢4 50 6.020
12 5 3¢ V+2 #K -150 503012 5 3¢ S+1 #4J 130 40403 9 24 N+1 ¢A 140 5030|5 7 1vO= ¢6 -80 4.04.0
1 9 2¢ O+4 42 -170 206.0| 7 3 440= ¢Q -130 206.0|5 7 44 N-1 ¢A -50 206.0( 111 3NV= ¢A -400 1.07.0
11 10 3NV +3 #5 -690 0.080|2 8 3#0+2 vyA -150 0.08.0| 210 44 N-2 ¢A -100 0080|8 4 3NV= ¢4 -400 107.0
4 - 5.0 4 - 5.0 12 - 45 12 - 45
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8 «E + 109764 16 & DKn
v 1082 v 9763 vED92 Vast v 8743
+ EK104 Ingen + D7 ¢E ov ¢ 75
#D10875 #K87543 »875 #EK432
« EKNn109632 45 41072 « KKn43 D « E8532 41042 « E9753
v EKDKn3 vEKDKn5 v108 v K875 v Kn3 v9 v K2
¢ Kn62 ¢ D753 ¢ KKn6 ¢ E10982 ¢ KD1083 ¢ 742 ¢+ KD832 ¢ EKn106
#E63 #K92 «D2 #Kn10 «E109 #Kn32 #Kn1065 #97
«KD74 « D9865 « KKn » K86
v 97654 v42 v 1064 v EDKn1065
+98 ¢ 543 ¢ Kn965 ¢ 94
*Kn4 *E96 +KD64 «D8
Kontr Ut Res Poang Kontr Ut Res Poang Kontr Ut Res Par  Kontr Ut Res

410 6NO-3 49 300 8.00.0 5 44 O-1 ¢5 50 8.000 3¢ V-3 44150 7.010|12 8 4vS= 4T 420 8.00.0
311 44 V-1 ¢A 100 4.04.0 1 3¢ O+1 &A -130 6.0 2.0 3v V-3 4T 150 7.010| 3 2 3v S+2 42 200 6.020
9 5 3NO-1 &J 100 4.04.0 7 4y V= ¢Q -420 4.04.0 2NS-1 ¢K -100 3.05.0(4 1 3vyS+1 «T 170 3.05.0
2 7 44 V-1 #5100 4040|311 4vyV+1l #3 -450 1.07.0 INS-1 ¢K -100 3.050| 511 3v S+1 44 170 3.05.0
2 1 3NO+1 49 -630 0.08.0( 410 4v V+1 A -450 1.07.0 3¢ V+1 #8 -130 0.08.0(7 9 24 O+2 vA -170 0.0 8.0
- 8 52| - 8 52|10 - 45 10 - 45
17 4 EK 18 4 D9863 19 4 D106 20 4 D73
v EK85 v Kn98754 v KD97 Vast v K96
+ KD1092 +8 +E9 Alla + Kn1052
&52 &2 #EKN76 #Knl107
a4 Kn87 49654 4 KKN105 «E2 aKKn 497 & EKKN10962 45
v63 v DKn42 vE63 v 102 vyKn82 vE10643 vD vE108753
¢7543 +8 + D95 + 10632 ¢ K863 ¢ 752 + 84 +97
#E764 #Knl098 #954 &#EDKN76 &#KD53 #982 #3854 D932
«D1032 a74 & E85432 484
v 1097 v KD v5 v Kn42
+ EKn6 + EKKn74 + DKn104 ¢ EKD63
&KD3 #K1083 104 &EK6

Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéang

=

=

==

Kontr Ut Res Poéang

8 3 44D0O-24Q300 80008 3 3NO-1 2 100 6.020
0 1 540-1 v6 50 503010 1 3vV-1 Q100 6.020
211 44V-1 43 50 5030(1211 3vV-1 T 100 6.020
2 9 3&#V= ¢A -110 206.0(2 9 3vV= ¢7 -140 2.06.0
7 4 34 N-2 8 -200 00807 4 3NO= v5 -600 0.08.0
- 5 32| - 5 3.2

Kontr Ut Res Poéang
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1 7 6NS= &#A990 8000|4 3 24V-3 8150 7.010|5 4 44 S+1 v8 450 6.02.0(12 10 44 V-3 ¢J 300 8.00.0
4 3 3NN+3 v2 490 4040|5 2 3#0-3 vK150 7010|911 44 S+1 4K 450 6.02.0( 911 4¢ S= vQ130 6.020
810 3NS+3 &6 490 4040|810 2vy S+1 #4 140 206.0|1210 44 S+1 v2 450 6.020|1 8 34V-1 v6 100 4.040
2 9 3NS+3 &4 490 404011 7 3y N= #A 140 206.0| 1 8 44 S= &#K420 2060|5 4 3¢ S-1 «A -100 1.07.0
5 2 6NS-2 &A -100 008.0(12 9 2vy N+1 A 140 206.0|7 2 INN+2 #9 150 0080| 7 2 3NN-1 #2 -100 1.07.0
-1 43| - 1 43| - 3 35 - 3 3.5
4 K10973 & EDKn94
v KD83 v 1072
+E75 + 107
&2 &DKn7
4 EKNG2 o- a- 4 K10763
vE1072 vKn9%4 vEDKNn984 v3
+D4 + KKn862 ¢ K963 ¢ EKn5
&D53 &EKN1097 »432 K865
« D854 4852
v 65 v K65
+ 1093 + D842
K864 &E109




